BAKERY AND CONFECTIONERY

EERURCIC TR R
(256)
Time : 2 Hours | [ Maximum Marks : 40
o 2 He | [ ‘ZETI'T_%" : 40
Note :  All questions are compulsory and carry marks as indicated against each

question.
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1. Fill in the blanks and write the correct answer in your answer-book : 1x15=15

T T il gfd i iR et 3w Tt Sw-gfeden # fafaw .

(a) Butter sponge is a cake without —.

e TS foFT —— et e 2

(b) Sugar used in caramel cake is sugar.
HHAA ek H —— =T I T e 2
(c) Madeira cake can be eaten at —— time.

T Sheh —— o G190 W] ST Gohdl 2 |

(d) Presence of fat on egg white

Thed THI 991 8 § 37 hl Hhal —— B

rising while whisking.

(e) A layer of is applied on Swiss Roll before rolling.

e ¥ Yedt fod 01 W —— il 7 o St 2

(f/ Black forest cake is decorated with —— flakes.

SoTeh HIEE Sheh bl —— o Tdel gehel U HTT STl 2|

256/VOC/906 3 [ P.T.O.



(g) Biscuits made of egg white mixture are in texture.
312 il Thel & o ¥ 59 foege sEe § —— 2d 21
(h) —— when added to biscuit mixtures are generally ground well.

— o foge & fism § ereft STt 2, A TR W 3R 3t awe e S 2

(i)  We use —— water for binding the ingredients so that binding is easier.

gl Sl afeH % fort —— arlt o SR foR ST @ drfer sfeH STE Bl

G) Ovens can be heated by , , and —.
Ciceichl , , 3 T T T ST wehdt 21
(k) Prooving chambers are cabinets with and control.

i e —— IR —— R =07 T aeft et et |

() Cocoa powder is in fat and sugar.

IRl T3 T aEr 3 = —— Bt 2

(m) —— egg floats on water.
—— 3ieT U W AT B

(n) —— yeast gives better product.
—— GRS TE A &

(o) —— sugar is raw unrefined sugar.
—— =ft srafeepa =t i R
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2. State in your answer-book whether the following statements are True or False :
1x15=15

ot IW-Yfeaem § Ffafad wem 9 € a1 3|a, fafa -

(a) Gross profit is the difference between selling price and material cost.

Tehct oy foshl goor 3R |mft it @vrd % s % s A weEd T

(b) Total cost is calculated by adding material cost and labour cost.

Pl AN, AT ARG 3R 48 A6 i Sigeht st ¢ |

(c) Net profit is total sale minus labour cost.

g A, F foeh § § | anrd were fererar 21

(d) Creditor is a person to whom we have to pay something.

TSR 98 ATk Tidl & S 81 $® o1 gl 2 |

(e) Transaction is give and take in a business.

GEE § el Hiel ed B

(f)’ 'The method of adding fat to croissant is similar to that in puff paste.
HIghe @ e 1 ade I% 9 % uH B

(g9 Doughnuts are flavoured with clove powder.

THFSH ! T % T T AT ST S 2 |

(h) A living organism used in bread-making process is yeast.

Taeridl fAmtor-gfshan § e foru S aren wfsha staaa wHi 2

(i) Gluten is formed from protein present in flour.

R o FEmH T & a2

G) Fat acts as flavour in bread.

T SICRI | GAeT 1 HH T 2|
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(k) The process of kneading helps in gluten development.
e Y Ui § T T TgH 8 Heg fierdt 7

) Cream puffs are made from choux paste.

T 3 T § I

(m) In cream icing the amount of sugar should be 30% of the amount
of cream.

s el 4 =i & gen S i amn H 30% B =)

(n) If you knead too much in preparing marzipan, it will be very useful.

afe 31 wrSffoe TR R qEy Sgd A YN, @ 98 Fgd e g

(o) The paper most suitable for making piping bag is newspaper.

T Oeft S % foTT Ted 39 TS STEER 1 HAS ¢ |

3. Answer the following in brief : 272x4=10
ffcrfiga =1 da § 3w AR

(a) List out any five different decorated cakes.

TSl g e o ohis Urd A Famy|

(b) Name the two common diseases of bread.

SIS & & AT W 6 I8 Sqreu|

(c) How would you rectify a curdled mixture?

39 FHees WAl FH SNk w7

(d) Name any five common cake faults.

%heh S | I3 Ul 370 HIFAT Idqr3U|
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